UbiBracket

UBI - BR

ltem No/ | Title/ Quantity /
Pozice Nazev soucasti Mnozstvi
01 | Pole Mount/ Sloupova 1
konzola
02 Swivel Rod / Viykyvny pilir 1
03 Nano Stantion M5 l
04 | UBolt/Usroub l
05 Washer 8.4 / Podlozka 8,4 2
06 Nut M8/ Matice M8 2
07 Screw M6x25/ Sroub l
M6x25
08 Washer 6.4 / Podlozka 6,4 2
09 Nut M6/ Matice M6 l
10 Hose Clamp/ Hadicova 2

spona




UbiBracket

UBI - BR

ltem No/ | Title/ Quantity /
Pozice Nazev soucasti Mnozstvi
01 | Pole Mount/ Sloupova 1
konzola
02 Swivel Rod / Viykyvny pilir 1
03 Nano Stantion M5 l
04 | UBolt/Usroub l
05 Washer 8.4 / Podlozka 8,4 2
06 Nut M8/ Matice M8 2
07 Screw M6x25/ Sroub l
M6x25
08 Washer 6.4 / Podlozka 6,4 2
09 Nut M6/ Matice M6 l
10 Hose Clamp/ Hadicova 2

spona




